Table S4 Log-likelihood values and parameter estimates under the clade model using the GTR+G tree (CodonFreq=2)

	
	Class 0
	Class 1
	Class 2

	Proportion
	p0 = 0.827
	p1 = 0.154
	p2 = 0.093

	All others
	0 = 0.049
	1 = 1
	2 = 5.719

	1980s-within
	0
	1
	3 = 5.548

	2000s-within
	0
	1
	4 = 3.497

	1980s-between
	0
	1
	5 = 10.607

	2000s-between  
	0
	1
	6 = 4.680


Note.(  The log likelihood under this model is ( = –31346.08.  The likelihood ratio test statistic for testing H0: (3 = (4 is 2(( = 24.463 and that for testing H0: (5 = (6 is 2(( = 32.93.  Both are significant with p < 1%.
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